Slektrické rozpi8«a,

SO ——
©apory
Cislo § Druh Znek Horna B ?
Rl odpor vrstvovy NTN 050 TR 102 1k25 =
R2 odpor vrstvovy NTN 050 TR 102 1kt =
R3 odpor vrstvovy P1A €024 WK 681 0L 32k/D
R4 odpor vrstvovy PlA 0024 WK 681 01 16k/%
RS odpor vrstvovy P1A 0024 WK 681 Q1 8k/L .
R6 odpor vrstvovy P1A 0024 WK 682 01 4x/° i
R7 odpor Vrstvovy F1A 0024 WK 681 Ol 2k/D |
R8 odpor vrstvovy P1lA 0024 WK €81 01 2k/D
R9 odpor vrastvovy PlA 0024 WK 681 01 1x33/D
R10 odpor vrstvovy NTN 050 TR 101 M2
R13 odpor vrstvovy WK 681 01 M16/D ~
R14 odpor vrstvovy WK 681 01 Mi6/D
R15 odpor vrstvovy WK 681 G1 M16/D
R16 odpor vrstvovy VK 681 01 M16/D
R20 _odpor drdtovy 1AK 669 09
R21 odpor dritovy 1AX 669 10
R22 odpor dratovy 1AK 669 11
R23 odpor -drdtovy. 1AK 669 12
RZ24 odpor dratovy 1AK 669 13
R25 odpor drétovy JAX 669 14
R26 jodpor vrstvovy P1A 0024 WK 681 01 38k%7/D
R27 ‘odpor vrstvovy P1A 0024 WK 681 01 M227/D
R28 odpor vrstvovy P1A 0024 WK 681 01 M533/D
R34 odpor vrstvovy NTN 050 TR 103 160/A
;R}B odpor vrstvovy NTN @50 TR 103% 2Ck 1
'R4C odpor vrstvovy NTN 050 TR 102 1k * |
'R41 odpor vrstvovy NTN 050 TR 102 2k =
‘R43 odpor vrstvovy NTN 050 TR 102 1Ck/A
R44 odpor vrstvovy P14 0024 WK 681 01 M32/D
R45 odpor wvrstvovy P1A 0024 WK 681 01 2x8/D
R46 potenciometr lin. NTN 150 WN 694 Q1 25k/N
R47 odpor vrstvovy NTN 050 TR 102 20k/A
R51 odpor vrstvovy NTN 050 TR 103 160/B
R52 odpor dritovy NTN 052 TR 502 50
'R33 odpor vrstvovy NTN 05C TR 103 160/B
R54 -odpor dratovy NIN 052 TR 502 50
755 . odpor dréatovy NTN 052 TR 502 50
R56 odpor vrstvovy . NTN 050 TR 10% 150/8
R57 odpor vrstvovy NTN 0S¢/ TR 10% 160/8
IR58 “odpor vrstvovy NTN 050 TR 103 160/B

#)Ra = R4) + R40O {nebo R41l + RL nebo RZ) v cerii.
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